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— ~ Stancia SA’s transactions in 2020 include the following:

(A) Stancia SA have made credit sales of $1 ,000,000 during 2020 with terms 2/ 10, net/60.
Stancia SA records its sales and receivables net.

(B) Accounts receivable of $960,000(gross) were collected including accounts of $160,000
on which collections were made after discount period.

(C) On July 1, specific accounts receivable of $16,000 (gross) are pledged to RT Credit
Corp. as security for a loan of $12,000 note at a finance charge of 5% of the amount of
the loan. At the year end, Stancia SA collected $10,000 of the pledged accounts less
$1,500 written off as uncollectible, and remitted the collection plus accrued interest to
RT Credit Corp. (10% of interest on the note).

(D) On October 1, Accounts receivable of $12,000 (gross) are factored with RT Credit Corp
with recourse at a financing charge of 2%. Cash is received for the proceeds, collections
are handled by RT Credit Corp, and 5% of the receivable factored 1s retained for
probable adjustments. Stancia SA assessed $2,000 for the fair value of the recourse
liability.

(note: All the accounts receivable transferred to RT Credit Corp. are past the discount period.)
Required:

1. Prepare all journal entries necessary to reflect the transactions above. (12%)

2. Explain, under the IFRS regulation, how Stancia SA values its accounts receivable and

determines its bad debt expense at the year end. (3%)

— ~ On March 1, 2020, Steele Company sold and delivered to Barr Hardware 200 tool sets for
cash of $10,000 (cost $6,000). Steele allows Barr to return any unused tool sets within 30
days of purchase. Steele estimates that: (1) 10 sets will be returned, (2) the cost of recovering
the products will be immaterial, and (3) the returned tools sets can be resold at a profit.

Required:
1. Prepare the journal entries for Steele to record the sale of 200 tool sets. (6%)
2. On March 25, 2020, Steels received 5 tool sets returned from Barr. (4%)

3. Assuming Steele’s tool products are newly developed and manufactured recently, no past
experience or information available for estimating the returns of the new products.
Explain how Steele recognize the sale revenue about the 200 tool sets. (5%)
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